

Mr. Jeff DeRouen, Executive Director Kentucky Public Service Commission 211 Sower Boulevard P. O. Box 615 Frankfort, Kentucky 40601

RECEIVED

SEP 28 2010

PUBLIC SERVICE COMMISSION

Louisville Gas and Electric Company

State Regulation and Rates 220 West Main Street PO Box 32010 Louisville, Kentucky 40232 www.eon-us.com

Robert M. Conroy Director - Rates T 502-627-3324 F 502-627-3213 robert.conroy@eon-us.com

September 28, 2010

RE: Application of Louisville Gas and Electric Company for an Adjustment of Electric and Gas Base Rates - Case No. 2009-00549

Dear Mr. DeRouen:

Enclosed please find an original and ten (10) copies of the Motion of Louisville Gas and Electric Company (LG&E) for Approval of Tariff Sheet Corrections in the above-referenced docket. In this Motion, LG&E respectfully requests that the Kentucky Public Service Commission issue an order correcting the descriptions for certain lights contained in Original Sheet No. 36.3 for Standard Rate Restricted Lighting Service (RLS) of LG&E's electric tariff.

Should you have any questions concerning the enclosed, please do not hesitate to contact me.

Sincerely,

Robert M. Conroy

Enclosures

COMMONWEALTH OF KENTUCKY

BEFORE THE PUBLIC SERVICE COMMISSION

In the Matter of:

APPLICATION OF LOUISVILLE GAS)	
AND ELECTRIC COMPANY FOR AN)	CASE NO. 2009-00549
ADJUSTMENT OF ITS ELECTRIC)	
AND GAS BASE RATES)	

MOTION OF LOUISVILLE GAS AND ELECTRIC COMPANY FOR APPROVAL OF TARIFF SHEET CORRECTIONS

Louisville Gas and Electric Company ("LG&E") respectfully requests that the Kentucky Public Service Commission ("Commission") issue an order correcting the descriptions for certain lights contained in Original Sheet No. 36.3 for Standard Rate Restricted Lighting Service (RLS) of LG&E's electric tariff. In support of this Motion, LG&E states as follows:

On June 8, 2010, LG&E, Kentucky Utilities Company, and the intervenors in this case and Case No. 2009-00548, with the exception of the Attorney General, filed a Stipulation and Recommendation ("Stipulation"), which was intended to address all of the issues raised in the two rate cases. After a hearing, the Commission issued an Order on July 30, 2010, approving the Stipulation in its entirety. Although the rates and descriptions contained in allocation schedules of Exhibit 2 to the Stipulation relating to some of the High Pressure Sodium Vapor and Mercury Vapor lights were accurate, the proposed electric tariff sheets contained in Exhibit 5 to the Stipulation relating to these same lights were not. As a result, some of these same errors related to these lights were included in Appendix B to the Commission's July 30, 2010 Order.

When LG&E filed its revised tariffs on August 6, 2010, the rates contained on Original Sheet No. 36.3 for Standard Rate Restricted Lighting Service (RLS) were correct. However, the descriptions relating to two specific lights were not and a third light was missing altogether. The

High Pressure Sodium Vapor lights listed on the Original Sheet No. 36.3 as "250 Watt on State

of Ky. Pole" and "400 Watt on State of Ky. Pole" were incorrectly labeled. Those lights should

have been listed as "250 Watt (metal pole)" and "400 Watt (metal pole)". In addition, the 250

Watt on State of Ky. Pole was inadvertently omitted on Original Sheet No. 36.3. Attached as

Exhibit A is Stipulation Exhibit 2, pages 11 and 12 with the three (3) lights in question

highlighted and identified as (1), (2), and (3). The lights listed as (1) and (2) in Stipulation

Exhibit 2 were incorrectly labeled on Original Sheet No. 36.3 as the State of Ky Poles. In

addition, the light listed as (3) was omitted from Original Sheet No. 36.3. Attached as Exhibit B

is a mark-up of LG&E Electric Original Sheet No 36.3 (filed on August 6, 2010) to show the

changes necessary to reflect the rates and descriptions contained in Stipulation Exhibit 2.

Finally, attached as Exhibit C is a revised Original Sheet No. 36.3 which reflects the correct

descriptions and rates shown in Stipulation Exhibit 2.

WHEREFORE, Louisville Gas and Electric Company respectfully requests that the

Commission grant this Motion to correct Original Sheet No. 36.3 as described above.

Dated: September 28, 2010

Respectfully submitted,

Allyson K. Sturgeon

Senior Corporate Attorney

E.ON U.S. LLC

220 West Main Street

Louisville, Kentucky 40202

Telephone: (502) 627-2088

Counsel for Louisville Gas and Electric Company

2

CERTIFICATE OF SERVICE

The undersigned hereby certifies that a true and correct copy of the foregoing was served on the following on the 28th day of September, 2010, United States mail, postage prepaid:

Lonnie E Bellar E.ON U.S. LLC 220 West Main Street Louisville, KY 40202

David Brown Stites & Harbison, PLLC 1800 Providian Center 400 West Market Street Louisville, KY 40202

Steven A Edwards Office of the Staff Judge Advocate 1320 Third Avenue, Room 215 Fort Knox, KY 40121-5000

Hon. Tom Fitzgerald Kentucky Resources Council, Inc. PO Box 1070 Frankfort, KY 40602

Robert A Ganton, Esq U.S. Army Legal Services Agency Regulatory Law Office 901 North Stuart Street, Suite 525 Arlington, VA 22203

Honorable Gardner F Gillespie Attorney at Law Hogan & Hartson, L.L.P. 555 Thirteenth Street, N.W. Washington, DC 20004-1109

Honorable Dennis G Howard II Assistant Attorney General Office of the Attorney General Utility & Rate 1024 Capital Center Drive Suite 200 Frankfort, KY 40601-8204 Honorable Lisa Kilkelly Attorney at Law Legal Aid Society 416 West Muhammad Ali Boulevard Suite 300 Louisville, KY 40202

Honorable Michael L Kurtz Attorney at Law Boehm, Kurtz & Lowry 36 East Seventh Street Suite 1510 Cincinnati, OH 45202

Honorable Matthew R Malone Attorney at Law Hurt, Crosbie & May PLLC The Equus Building 127 West Main Street Lexington, KY 40507

Honorable Kendrick R Riggs Attorney at Law Stoll Keenon Ogden, PLLC 2000 PNC Plaza 500 W Jefferson Street Louisville, KY 40202-2828

Honorable Robert M Watt, III Attorney At Law STOLL KEENON OGDEN PLLC 300 West Vine Street Suite 2100 Lexington, KY 40507-1801

Laurence J Zielke Zielke Law Firm PLLC 1250 Meidinger Tower 462 South Fourth Avenue Louisville, KY 40202-3465

Counsel for Louisville Gas and Electric Company

Exhibit A

LOUISVILLE GAS AND ELECTRIC COMPANY

Calculations of Proposed Stipulated Rate Increase Based on Sales for the 12 moths ended October 31, 2009

	(1)	(2)	(3)	(4)		(5)		(6)		(7)
		Units		Present Rates	R	alculated evenue at esent Rates		osed ulated	R	alculated evenue at ulated Rates
	RESTRICTED LIGHTING SERVICE RATE RLS									
	OVERHEAD SERVICE:									
	Mercury Vapor									
	100W MERCURY OUTDOOR LIGHT	542		\$ 7 17	\$	3,886	\$	7.17	\$	3,886
	175W MERCURY OUTDOOR LIGHT	35,180		\$ 8 25	\$	290,235	\$	8.25	\$	290,235
	250W MERCURY OUTDOOR LIGHT	57,703		\$ 9 57	\$	552,218	S	9.57	\$	552,218
	400W MERCURY OUTDOOR LIGHT	84,377		\$	\$	982,148	\$	11.64	\$	982,148
	400W MERCURY OUTDOOR LIGHT Metal Pole	572		\$ 16 15	\$	9,238	\$	16.15	\$	9,238
	1000W MERCURY OUTDOOR LIGHT	-		\$ 22 12	\$	-	\$	22.12	\$	-
	1000W MERCURY FLOOD LIGHT	90		\$ 22.12	\$	1,991	\$	22.12	\$	1,991
	High Pressure Sodium									
	100W HP SODIUM OUTDOOR LIGHT	206		\$ 8.44	\$	1,739	\$	9 58	\$	1,973
	150W HP SODIUM OUTDOOR LIGHT	24,727		\$ 10.05	\$	248,506	\$	11 40	\$	281,888
	150W HP SODIUM FLOOD LIGHT	140		\$ 12.10	\$	1,694	\$	13 73	\$	1,922
	250W HP SODIUM OUTDOOR LIGHT	29,048		\$ 12 02	\$	349,157	\$	13 64	\$	396,215
	400W HP SODIUM OUTDOOR LIGHT	46,377		\$ 12 92	\$	599,191	\$	14.66	\$	679,887
	400W HP SODIUM FLOOD LIGHT	6,238		\$ 12 92	\$	80,595	\$	14.66	\$	91,449
	UNDERGROUND SERVICE:									
	Mercury Vapor									
	100W MERCURY LIGHT TOP MOUNT	1,164		\$ 11.17	\$	13,002	\$	11.17	\$	13,002
	175W MERCURY LIGHT TOP MOUNT	12,443		\$ 12.15	\$	151,182	\$	12.15	\$	151,182
	175W UG MERCURY LIGHT METAL POLE	1,259		\$ 16.18	\$	20,371	\$	16.18	\$	20,371
	250W UG MERCURY OUTDOOR LIGHT	12,425		\$ 17.54	\$	217,935	\$	17 54	\$	217,935
	400W UG MERCURY OUTDOOR LIGHT	8,601		\$ 20.85	\$	179,331	\$	20 85	\$	179,331
	400W UG MERCURY LIGHT METAL POLE	4,576		\$ 20 95	\$	95,867	\$	20 95	\$	95,867
	High Pressure Sodium									
	100W HP SODIUM LIGHT TOP MOUNT	22,886		\$ 12 22	\$	279,667	\$	13.87	\$	317,429
	150W UG HP SODIUM OUTDOOR LIGHT	2,376		\$ 20 61	\$	48,969	\$	23.39	\$	55,575
	250W UG HP SODIUM OUTDOOR LIGHT	6,589		\$ 22 01	\$	145,024	\$	24.98	\$	164,593
(1)	250W HP SODIUM LIGHTMETAL POLE	2,412		\$ 22.01	\$	53,088	\$	24.98	\$	60,252
•	400W UG HP SODIUM OUTDOOR LIGHT	7,536		\$ 23.95	\$	180,487	\$	27.18	\$	204,828
(2)	400W HP SODIUM LIGHTMETAL POLE	2,219		\$ 23.95	\$	53,145	\$	27.18	\$	60,312
	Total Installed Prior to Jan. 1, 1991	369,686			\$ 4	558,665.52			\$ 4	,833,726,67

LOUISVILLE GAS AND ELECTRIC COMPANY Calculations of Proposed Stipulated Rate Increase Based on Sales for the 12 moths ended October 31, 2009

	(1)	(2)	(3)	(4)	(5)		(6)		(7)
		Units	**************************************	Present Rates	Calculated Revenue at Present Rates	Prop Stipu Rate	lated	F	Calculated tevenue at oulated Rates
	OVERHEAD SERVICE:								
	Mercury Vapor								
	175W MERCURY OUTDOOR LIGHT	9	\$	10.04	\$ 90	\$	10.04	\$	90
	250W MERCURY OUTDOOR LIGHT	741	\$	11 46	\$ 8,492	\$	11 46	\$	8,492
	400W MERCURY OUTDOOR LIGHT	152	\$	13.95	\$ 2,120	\$	13 95	\$	2,120
	400W MERCURY FLOOD LIGHT	43	\$	13.95	\$ 600	\$	13 95	\$	600
	1000W MERCURY FLOOD LIGHT	91	\$	25 83	\$ 2,351	\$	25 83	\$	2,351
	High Pressure Sodium							\$	-
	100W HP SODIUM OUTDOOR LIGHT	4,198	\$	8 44	\$ 35,431	\$	9 58	\$	40,217
	150W HP SODIUM OUTDOOR LIGHT	6,571	\$	10 05	\$ 66,039	\$	11.40	\$	74,909
	150W HP SODIUM FLOOD LIGHT	114	\$	10 05	\$ 1,146	\$	11.40	\$	1,300
	250W HP SODIUM OUTDOOR LIGHT	873	S	12.02	\$ 10,493	\$	13.64	\$	11,908
	400W HP SODIUM OUTDOOR LIGHT	5,778	\$	12.92	\$ 74,652	\$	14.66	\$	84,705
	400W HP SODIUM FLOOD LIGHT	15,881	\$	12 92	\$ 205,183	\$	14.66	\$	232,815
	1000W HP SODIUM OUTDOOR LIGHT	21	\$	29.05	\$ 610	\$	32 97	\$	692
	UNDERGROUND SERVICE:								
	Mercury Vapor								
	100W MERCURY LIGHT TOP MOUNT	-	\$	13 86	\$ -	\$	13 86	\$	-
	175W MERCURY LIGHT TOP MOUNT	429	\$	14 68	\$ 6,298	\$	14 68	\$	6,298
	175W UG MERCURY LIGHT METAL POLE	•	\$	23 12	\$ -	\$	23.12	\$	u
	250W UG MERCURY OUTDOOR LIGHT	436	\$	24 05	\$ 10,486	\$	24.05	\$	10,486
	400W UG MERCURY OUTDOOR LIGHT	-	S	27.09	\$ -	\$	27 09	\$	-
	400W UG MERCURY OUTDOOR LIGHT	*	\$	27.09	\$ -	\$	27.09	\$	-
	High Pressure Sodium								
	70W HP SODIUM LIGHT TOP MOUNT	2,274	\$	11.72	\$ 26,651	\$	13.30	\$	30,244
	100W HP SODIUM LIGHT TOP MOUNT	59,437	\$	12 22	\$ 726,320	\$	13 87	\$	824,391
	150W UG HP SODIUM LIGHT TOP MOUNT	3,925	\$	17 75	\$ 69,669	\$	20 14	\$	79,050
	150W UG HP SODIUM OUTDOOR LIGHT	998	\$	20 61	\$ 20,569	\$	23 39	\$	23,343
	250W UG HP SODIUM OUTDOOR LIGHT	733	\$	22 01	\$ 16,133	\$	24.98	\$	18,310
(1)	250W HP SODIUM LIGHTMETAL POLE	•	\$	22.01	\$ -	\$	24.98	\$	-
	400W UG HP SODIUM OUTDOOR LIGHT	3,049	S	23.95	\$ 73,024	\$	27.18	\$	82,872
(2)	400W HP SODIUM LIGHTMETAL POLE	9	\$	23.95	\$ 216	\$	27.18	\$	245
	1000W UG HP SODIUM OUTDOOR LIGHT	19	S	55.30	\$ 1,051	\$	62.75	\$	1,192
	DECORATIVE LIGHTING FIXTURES: Acomw/ Decorative Baskets								
	70W HP SODIUM ACORN/DECO BASKET	123	\$			\$	17 92		2,204
	100W HP SODIUM ACORN/DECO BASKET	1,421	\$	16 56	\$ 23,532	\$	18 79	\$	26,701
	8-Sided Coach		_	45.00				_	
	70W HP SODIUM 8-SIDED COACH	415	S		\$ 6,632	\$	18 13	\$	7,524
	100W HP SODIUM 8-SIDED COACH	88	S	17.09	\$ 1,504	\$	19.39	\$	1,706
	Other Restricted Lighting	-							
	400 W MERCURY VAPOR UP	73	\$			\$	16.11	\$	1,176
(3)	250 W US HP SODIUM STATE OF KY POLE	562	\$		\$ 12,390	\$	22 05	\$	12,390
	400 W UG MV STATE OF KY POLE	22	\$		\$ 461	\$	20 95	\$	461
	300 W 6000 LUMEN INCANDESCENT	154	\$		\$ 1,831	\$	11 89	\$	1,831
	100 W 1500 LUMEN INCANDESCENT	203	\$	8 35	\$ 1,696	\$	8 35	\$	1,696
	Total Installed After Dec. 31, 1990	108,842			1,408,784				1,592,319
	Total Public Street Linghting Restricted	478,528			\$ 5,967,449.97			\$	6,426,045.36

Exhibit B

Louisville Gas and Electric Company

P.S.C. Electric No. 8, Original Sheet No. 36.3

R

Standard Rate RLS
Restricted Lighting Service

PUBLIC STREET LIGHTING

AVAILABILITY OF SERVICE - RESTRICTED

The following lighting units and rates are available to municipal, county, state and Federal governments, including divisions thereof, and other bodies politic which have the authority to levy and collect general taxes, for the lighting of public streets and roads, public parks and other outdoor locations open to and reserved for general public use. This rate schedule will continue to be available to fixtures that were being served hereunder on July 1, 2004, and will not be available for the addition of new fixtures.

CHARACTER OF SERVICE

These rates cover electric lighting service to Company-owned and maintained street lighting equipment as hereinafter described. Service under these rates will be available on an automatically controlled dusk-to-dawn every-night schedule of approximately 4,000 hours per year, and only to the types of lighting units specified herein.

RATES

Date Day Martin Day He't							
True £11-4		Month Per Unit					
Type of Unit	Installed Prior to	Installed After					
Overhead Service	<u>January 1, 1991</u>	<u>December 31, 1990</u>					
Mercury Vapor	A						
100 Watt	\$ 7.17	N/A					
175 Watt	8.25	\$10.04					
250 Watt	9.57	11.46					
400 Watt	11.64	13.95					
400 Watt (metal pole)	16.15	N/A					
1000 Watt	22.12	25.83					
High Pressure Sodium Vapor							
100 Watt	\$ 9.58	\$ 9.58					
150 Watt	11.40	11.40					
150 Watt Flood	13.73	11.40					
250 Watt	13.64	13.64					
400 Watt	14.66	14.66					
1000 Watt	N/A	32.97					
Underground Service							
Mercury Vapor							
100 Watt - Top Mounted	\$11.17	\$13.86					
175 Watt - Top Mounted	12.15	14.68					
175 Watt (metal pole)	16.18	23.12					
250 Watt	17.54	24.05					
400 Watt	20.85	27.09					
400 Watt on State of Ky. Pole	20.95	20.95					
High Pressure Sodium Vapor	20.00	20.00					
70 Watt - Top Mounted	N/A	\$13.30					
100 Watt - Top Mounted	\$13.87	13.87					
150 Watt - Top Mounted	W/A	20.14					
150 Watt	23.39	23.39					
250 Watt	24.98	24.98					
	24.98	24.98					
	22.05						
(3) 250 Watt on State of Ky. Pole 400 Watt	27.18	<u>22.05</u> 27.18					
	27.18 27.18	27.18 27.18					
(2) 400 Watt (metal pole) on State of Ky. Pole							
1000 Watt	N/A	62.75					

Date of Issue: August 6, 2010 Date Effective: August 1, 2010

Issued By: Lonnie E. Bellar, Vice President, State Regulation and Rates, Louisville, Kentucky

Issued by Authority of an Order of the KPSC in Case No. 2009-00549 dated July 30, 2010

Exhibit C

Data Day Manth Day Hait

Standard Rate RLS Restricted Lighting Service

PUBLIC STREET LIGHTING

AVAILABILITY OF SERVICE - RESTRICTED

The following lighting units and rates are available to municipal, county, state and Federal governments, including divisions thereof, and other bodies politic which have the authority to levy and collect general taxes, for the lighting of public streets and roads, public parks and other outdoor locations open to and reserved for general public use. This rate schedule will continue to be available to fixtures that were being served hereunder on July 1, 2004, and will not be available for the addition of new fixtures.

CHARACTER OF SERVICE

These rates cover electric lighting service to Company-owned and maintained street lighting equipment as hereinafter described. Service under these rates will be available on an automatically controlled dusk-to-dawn every-night schedule of approximately 4,000 hours per year, and only to the types of lighting units specified herein.

RATES

	Rate Per	Month Per Unit
Type of Unit	Installed Prior to	Installed After
Overhead Service	January 1, 1991	December 31, 1990
Mercury Vapor		
100 Watt	\$ 7.17	N/A
175 Watt	8.25	\$10.04
250 Watt	9.57	11.46
400 Watt	11.64	13.95
400 Watt (metal pole)	16.15	N/A
1000 Watt	22.12	25.83
High Pressure Sodium Vapor		20.00
100 Watt	\$ 9.58	\$ 9.58
150 Watt	11.40	11.40
150 Watt Flood	13.73	11.40
250 Watt	13.64	13.64
400 Watt	14.66	
		14.66
1000 Watt	N/A	32.97
Underground Service		
Mercury Vapor	644 47	¢42.00
100 Watt - Top Mounted	\$11.17	\$13.86
175 Watt - Top Mounted	12.15	14.68
175 Watt (metal pole)	16.18	23.12
250 Watt	17.54	24.05
400 Watt	20.85	27.09
400 Watt on State of Ky. Pole	20.95	20.95
<u>High Pressure Sodium Vapor</u>		
70 Watt - Top Mounted	N/A	\$13.30
100 Watt - Top Mounted	\$13.87	13.87
150 Watt - Top Mounted	N/A	20.14
150 Watt	23.39	23.39
250 Watt	24.98	24.98
250 Watt (metal pole)	24.98	24.98
250 Watt on State of Ky. Pole	22.05	22.05
400 Watt	27.18	27.18
400 Watt (metal pole)	27.18	27.18
1000 Watt	N/A	62.75

Date of Issue: August 6, 2010 Date Effective: August 1, 2010

Issued By: Lonnie E. Bellar, Vice President, State Regulation and Rates, Louisville, Kentucky